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310 x 52 beam as shown. Determine the largest allowable vertical shear if the

’@_ shearing stress in the beam is not to exceed 90 MPa.

Web

7.6 paim # ,Lf5, 8 mn

Ca,jcul)d‘e izl & F s e

12 mm X 200 mm

‘A ()| d (mam) 'A‘ai GD‘\M"’“) f (10‘ Mmq7

65.34 0.02%83
38, 12 Vé/ilo"é-’{ cE70 . ? o’ Ia.
ek Q.Fﬂ.;\n: z400 |F165 65.34 0.0238
165 mm

119.057¢6

P,Qa./ e 2400
-T;P ‘Pﬂange 2204 4
&pimamsiums Ha.9‘F Wek 1f08. 093

R= ZAy = 212.73 ¥ (0> mm = 812.73 %[0 " m

L= 7.C om = 7.6%10° m

r- Y& V- EEZ | (2417410 N7exio* Niox (0f)
1t Q 812. 713« [0 °

= 2lox1c° N 210 kN —=-a




[image: image2.jpg]5‘“ Problem 6.13

r— 220 mm 'a—'

2 il =

Dimensious tn mm @

6.13 Two steel plates of 12 x 220-mm rectangular cross section are welded to the
W250 x 58 beam -as shown. Determine the largest allowable vertical shear if the
shearing stress in the beam is not to exceed 90 MPa.
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[image: image3.jpg]M Problem 6.18 6.18 For the beam and loading shown, determine the minimum required depth 4,
6/ : knowing that for the grade of timber used, o, = 1750 psi and Ty = 130 psi.
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6.21 and 6.22 For the beam and loading shown, consider section n-n and determine
the shearing stress at (@) point a, (b) point b.
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[image: image5.jpg]Problem 6.26 6.25 through 6.28 A beam having the cross section shown is subjected to a Vertica]
shear V. Determine (a) the horizontal line along which the shearing stress jg
maximum, (b) the constant & in the following expression for the maximum shearing
stress
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where A is the cross-sectional area of the beam.
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[image: image6.jpg]M Problem 6.17 6.17 For the beam and loading shown, determine the minimum required width b,
5 : knowing that for the grade of timber used, o1 = 12 MPa and 14 = 825 kPa.
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